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 ��/  ��/  ��/  ��/ ----    !0123/ 405!0123/ 405!0123/ 405!0123/ 405---- �405 �1610 7�8 ू/9: �405 �1610 7�8 ू/9: �405 �1610 7�8 ू/9: �405 �1610 7�8 ू/9:    

    

;<3  �=> =�  ;0%5 � (;<3  �=> =�  ;0%5 � (;<3  �=> =�  ;0%5 � (;<3  �=> =�  ;0%5 � (����)  AB C50D7/)  AB C50D7/)  AB C50D7/)  AB C50D7/Mark (Mark (Mark (Mark (����) against the correct option) against the correct option) against the correct option) against the correct option5×1=055×1=055×1=055×1=05    

ू.1 �/ O���  A =�0  �405 =�   =25 � ू/9c5 <g? 
 What are the purposes of Ayurved medical science? 

 (\) 2  (;) 1 

 (C) 3  (�) 4 

ू.2 �/ O��� =9  =; ��� =0 ����� =<0 c020 <g? 
 Ayurveda is called the sub-ved of which Ved? 

 (\) z{��� Rigveda (;) \$� ���� Atharvaveda 

 (C) ;0%��� Samveda (�)  /c O��� Yajurveda 

ू.3 z{��� =�  50;�3/ ;"� %K !� 2=3 =�   =;  ;¶082 =�  C01� %K �_�M <g? 
 Which principle of physics is mentioned in the Nasadiya Sukta of  Rigveda? 

 (\) �c0 � ; 81a#  ;¶082 Energy Conservation Principle 

 (;) ॄ¾0¿ ड �À �  ;¶082 Universe origin theory 

 (C) : OÁÂ0=� �#  ;¶082 Gravitational Theory    

 (�) ि� Ã1 �c0 � =0 «�0821# Conversion of matter and energy 

ू.4 cp 2 O� 8 =0 � g40 5= �:Ä=1#  =25 � ू=01 ; �  =/0 <|? 
 How many types of scientific classification of animals have done? 

 (\) 2  (;) 5 

 (C) 4  (�) 3 
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ू.5 � g �= ;8ः =�  2 %K  =; l02 O =0 ��/9: / O¶ %K ू / O� <95 � �0L� º1� (:9L3) C505 � %K  =/0 c020 $0? 
 Which metal was used in the Vedic culture to make shrapnel (bullets) used in war? 

 (\) ;950 (©#�) Gold (;) ;3;0 Lead  

 (C) 1c2 (A0P�3) Silver  (�) 20PC0 Copper 

CRCRCRCR     �=>3/ �=>3/ �=>3/ �=>3/    ूूूूँँँँ5555////    MMMMultiple choice questionsultiple choice questionsultiple choice questionsultiple choice questions                5555××××2222====10101010    

ू.6 ू ;¶ म8$ / O �=>2« =0 5�/05/ O � \�0/  =;;� ;8C8 l2 <g? 
 The Nauyanyukti chapter of the famous text Yuktkalpataru is related to? 

 (\) 1; �Æ0 ; � From Chemistry (;) 5�=0  5%0 �# ; � From Ship Building 

 (C) !� 2=3 ; � From Physics  (�) �/ O��� ; � From Ayurveda 

ू.7 \C 2= 402 � OÇ;"ऽe =3 =O L ;8�0 <g ? 
 What is the total number of Shulbasutras known so far? 

 (\) 8  (;) 7  

 (C) 6  (�) 4 

ू.8 /9: %K ©0ः È / =�  ¤¡= C207 :7 <g ? 
 What are the components of health in yog? 

 (\) 5  (;) 2 

 (C) 4  (�) 3 

ू.9 /4 �� �  =25 � ू=01 =3 <923 <| ? 
 What are the types of Yagya Vedi? 

 (\) 3  (;) 4 

 (C) 2  (�) 5 

ू.10 /8ऽA L2 50� =0 �# �5  =; म8$ %K  %L20 <g? 
 In which text is the description of a mechanized boat found? 

 (\) %<0!012 Mahabharata  (;) :320 Geta 

 (C) 10%0/# Ramayana (�) D5%K ; � =9S 5<3 None of these  
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 1� 1� 1� 1�    q059q059q059q059    =3=3=3=3    �" 2 �� " 2 �� " 2 �� " 2 �    =3 c7=3 c7=3 c7=3 c7    ////FFFFill in the blanksill in the blanksill in the blanksill in the blanks                10 x 2 = 2010 x 2 = 2010 x 2 = 2010 x 2 = 20    

ू.11 ……………�¢�0� =0 ू% OM �/ O��� म8$ <g 

 The main text of Shalyashastra in ayurveda is……………. 

ू.12 A �A= =�  ¡3=�  =3 M9c ..........................=�  ^010 =3 :S।  

 Smallpox vaccine was discovered by ………….. 

ू.13 ;"/ � ;%N......................=0 �92 <|। 

 Sun is the source of all …………. 

ू.14 7==9 �=3/ c3� %� .........................=9 �=0 <923 <g। 

 A unicellular organism has ……………. cell. 

ू.15 � g�� �= �� �5 %K ि� =9...................!0:e %K C0P¡0 :/0 <|। 

 In Vaisheshik philosophy, matter is divided into ................. parts. 

ू.16 1 \8: OL %K .........................; �.%3. <92 � <|। 

 There are ............cms. in 1 finger. 

ू.17 /9: =�  \5 O;01 ँ�0;e =0  5/%5......................=�  ^010 <920 <g। 

 According to yog, the regulation of breathing is done by …………. 

ू.18 c9 �/ O =�   <2 7�8 \ <2 =0 405 =107P........................=<L020 <g। 

 The one who gives knowledge of the merits and demerits of age is called 

........................... 

ू.19 A1= ;8 <20 %K c3�0# O� 8 =9 …………….!0:9 %K  �!0 c2  =/0 :/0 <g। 

 In Charaka Samhita, bacteria are divided into …………. 

ू.20 ��/50A0/ � =3  =1#0�L3 %K 30 % OÉ2 � =0 ...................... �5 <920 <|। 

 In Udayanacharya's Kiranavali, 30 Muhurta have ...................... days. 

;¦;¦;¦;¦    /0/0/0/0    \;¦\;¦\;¦\;¦    C20D7C20D7C20D7C20D7    ////TTTTell true or falseell true or falseell true or falseell true or false                5555××××1111====5555    

ू.21 �/ O���  5�01= 7�8 ��A010Ê= �959 ��0� 8 ; � ;8C8 l2 <g। 
 Ayurveda deals with both preventive and curative medicines. 
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ू.22 19:c5= c3�0# O� 8 =9 5{5 �PM9 =�  ^010 � �M0 c0 ;=20 <g। 
 Pathogenic bacteria can be seen with the naked eye. 

ू.23 :%5 =% � =9 : 2 =<2 � <|। 
 Movement is called motion. 

ू.24 �1%0# O =9  �!0 c2  =/0 c0 ;=20 <g। 
 Atoms can be splitted. 

ू.25 %05� �131 ू=�  2 =�  5 2Ëe ; �  %L=1 C50 R� <|। 
 The human body is made up of 5 elements of nature. 

;<3;<3;<3;<3    c9]3c9]3c9]3c9]3     %L05 %L05 %L05 %L05    =3 c7=3 c7=3 c7=3 c7    / / / / MMMMatch the correct pairatch the correct pairatch the correct pairatch the correct pair      5 x 2 = 15 x 2 = 15 x 2 = 15 x 2 = 10000 

ू.26 �8A%<0!"2  (=) �02,  �2, =¯ 
 Panchmahabhoot  Vata, Pitta, Kapha 

ू.27  ऽ�9�   (M)  A =�0 �¶ 2 
 Tridosha   Medical practice 

ू.28 �c; Ì    (:) ;02 �l01!"2 ¤¡= 
 Ojas    seven basic components 

ू.29 l02 O   (¤) �Í8A 2Â 
 Metal    Five elements 

ू.30 �8A=% �   (¥) c3�53 � � 
    Panchkarma  Vitality  

\ 2\ 2\ 2\ 2    L¤"L¤"L¤"L¤"�13/�13/�13/�13/    ूूूूँँँँ5555/V/V/V/Very ery ery ery SSSShort hort hort hort AAAAnswer nswer nswer nswer QQQQuestionuestionuestionuestion   5555××××2222====10101010 

ू.31 �/ O��� =�  म8$9 %K ;C; � ू0A352/ म8$ <g? 
 Which is the oldest text in the texts of Ayurveda? 

ू.32 ;"/ � ; � ू0Q �c0 � °0 =<L023 <g? 
 What is the name of energy obtained from the sun called? 

ू.33  c; «� %K l02 O7 P � �»3 ; � �Î 52 =3 c023 <g �; � °0 =<2� <g? 
 What is the form in which metals are mined from the earth called? 

ू.34 /9:;"ऽ =�  1A /20 =0 50%  L M7 ?  
 Write the name of the author of Yoga Sutra? 
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ू.35  �0D$0:91; ू% �/  =; !0123/ : #23/ ू%�/ �1 �l0 12 <|? 
 The Pythagoras theorem based on which Indian mathematical theorem? 

L¤"L¤"L¤"L¤"�13/�13/�13/�13/    ूूूूँँँँ5555    ////SSSShort hort hort hort AAAAnswer nswer nswer nswer TTTType ype ype ype QQQQuestionuestionuestionuestionssss            5555××××4444====20202020    

ू.36 5aऽ �0 ¡=0 =�  C01� %K C20D7 ? 
 Write about Nakshatra Vatika? 

ू.37 /9:0;5e ; � <95 � �0L� L0!  L M7 ? 
 Write the benefits of yogasanas? 

ू.38 �: � =0 a �ऽ¯L 402 =15 � =0 � OÇ;"ऽ  L M7? 
 Write the formula to find the area of a square? 

ू.39 %< � � =#0� =0 �1%0# O�0� =0  ;¶082  L M7 ? 
 Write the theory of atomism of Maharishi Kanad. 

ू.40 ��le =�  19:मN <95 � =�  =9S 3 =01# C20D7 ? 
 Give any 3 reasons for the sickness in plants? 

�3¤ ��3¤ ��3¤ ��3¤ �    ��13/��13/��13/��13/    ूूूूँँँँ5555 /  LLLLong ong ong ong AAAAnswer nswer nswer nswer TTTType ype ype ype QQQQuestionuestionuestionuestionssss            10101010××××2222====20202020    

ू.41 (=) �8A%<0!"2  ;¶082 =9 ;%·0D7? 
  Explain the Panchmahabhuta principle? 

 (M) � ��e %K ;8�0 =0  =; ू=01 ; � �_�M  =/0 :/0 <g? 
  How are the numbers mentioned in the Vedas?  

ू.42 (=) ू0A35 !0123/ �¬ /  A =± ;0 =3 ू#0L3 =9 ;%·0D7 ? 
  Explain the ancient Indian system of surgery? 

 (M) �c0 � ; 81a# =0  5/% ;%·0D7? 
  Write the law of conservation of energy? 


